EXHBERE  FRENY TZBYTELEY - KA ERLLMEE (B 0 —HHH% -
MY 8% € BERENSRERM

KETHFAH L TR 10.06(1)(b)IFHLEZ Fr B EFL -

1. RBX

AR BRI AT > © 84T 10BOR A "l R0y o

R AR S A e 5 B B a 47 B 948 300 40 55 47 sl 0 ] % 4y > A EEE g B ug
A7 8 ) B 0y BRI £51,186,633,418 % » M B 2 7 1% AR 45 1 (] 4% 4 7% o B 1m) B 2
118,663,342 % Z& B2 BT A R i ©

2. BEZEE

WA FIESEGE S > BT RIBCR AR T 307 28 7 38 35— S R T 355 M [ 5 28 =] e A
P2 B R R BEOR 2 SRR A5 o A7 IR 8 [l T 8 o R 2 ) N K B A
(15 VUL R AL ) AR T s T 251 {R&wﬁﬁﬁﬁﬁﬁfﬁ ALY TN o
Itk PEUHR [0 S8 A7 R 07 2 ) BOoRie 28 ) ABCR RS 77 3

3. FARBREzES

S 1 38 > ) P A A2 T B KR 2 ) B AR A ) R A IS 0 AT Ak AR [ iR 2

éo

ATl o S 3 R R CIE SF /AR DR il <t % /AT o AV E F VAT N
HERFIR A H K 2 B B A P A3 Al o RO R B A DT A (o 8 [ 2

BRASSCIE Pl BR B 5N > A RISE S R AL R A AR Rl Z - R Ek
RN B AL T7 s AR AT E R AR o A7 w3 B SRS i L5 IO AR 95wt ) 3 — A A
(e

WA FIE S (R — )& B AR R CSE P k) S5 45 B Z AT R i B A
B R B T 1 R O D AR SR S mL B

PEMA AT K S A A 2D GEFR R BB MeAN T R 5
WAL RN BN T 1 T 2w R mL B - I SRl AN R o R
Jiefiy o

- VII-1 -



EXHBERE  FRENY TZBYTELEY - KA ERLLMEE (B 0 —HHH% -
MY 8% € BERENSRERM

5. EBEEZERE

A RO B SC TRE  EE R IR E T BRI AR I B R ] B A A A
RS [ S REAT (R 28w m] 2 HE T

ﬁéﬁ’&ﬁ?ﬁ%lﬁ]%M}ﬁ?E%J‘ﬂﬁ%ﬁé}ﬁ?E&ﬁﬁé%ﬁ’&ﬁ?Z&%‘%@B@%ﬁétmﬁﬂiJJu > HETM
SRZE AR 45 Wi ST R AR D268 o ) MR AR R R o SRS Rl EE T o NI 4 DRE
/\MEW%IEITX%E EEAT 2 AT An] i R BB 2 IS ST R R 2 AT TR SR -
6. BRIER

R EARE AT HRR A+ B A &AL —F—LHERH — 2 REHEE
AIAT HAE AR A o B AR S BT HUE e MR AEAR AN

BRERAER

=RV} Be ®IE
T T

—E-RE
Eiv 6.00 4.60
NH 4.82 4.00
Lt A 5.14 4.55
J\H 5.06 4.70
JLA 5.68 4.78
+H 4.97 4.51
+—H 4.74 4.46
+=H 4.57 4.04

—E—+tF
—H 4.55 4.09
—A 4.73 4.38
=H 5.38 4.49
IEIH 5.06 4.75
(EZRBEEETITH) 5.10 4.98

T B AR T R AT AT HIRT SR A AS 2% R S0 0 A AR B3 (AN i o 7 B 58 BT A0
HoAtn 77 50)

- VII-2 -



